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Answer s and suggested mark

scheme
Question N.C. Level Answer Mark
1 4b a) 72,66 b)l, 32 1 mark for each
c) 15,24 d)27 correct (4)
2. 4b a) 8 b)11 1 mark for each
c)3 d) 108 correct (4)
3. 4b a) 348 b) 329 1 mark for each
c) 372 d) 603 correct (4)
4. 4b a)7 b) 4 1 mark for each
c) 113 correct (3)
5. 4b 25p 1 mark
6. 5a London & Moscow 2 marks
7. 4b a)89& 47 b)8s 1 mark for each
c)49 d)87& 69or 68 & correct (5)
88 or 67 & 89 €) 89
8. 4c a)£1.40 b) £6.68 a) Lmark b) 2 marks
c) 61p d) 73p c) 1mark d)2marks
9. 5b a) 158cm  b) 54kg 1 mark for each
correct (2)
10. 4b a) numberscorrectly a) 2 marks
positioned on theline | b-d) 2 marksfor all
b)25 ¢)37 d)135 | correct 1for at least 2
11. 4a a) £22.40 b) £122 a) 1 mark b) 1 mark
c)5 £1.25 d)no c) 2marks d) 2 marks
12. 4a a) handsin correct 1 mark for each
position correct (3)
b) fiveto nineor eight
fifty five
c) 3:30 or 15:30
13. 5b 1/3 1 mark
14. da a)75 b)296.1 1 mark for each
c)14.1 d)16.1 correct (4)
15. 5¢c a) 108° b) 72° 2 marks
16. 5c a) 56° b) 140° 2 marks
17. 5c Shapes correctly 1 mark for 3or more
matched correctly matched
18. 4clb 1la) 13%2h  b) 3h 2 marks
2. £6.30 1 mark
19. 4c al2 b)7 1 mark for each
correct(2)
20. 4c a) 25 b) 156 c) 108 1 mark for each
correct(3)
Total

62




Draft Level Thresholds Year 6 Block 1

5c 60 +
4A 48 +
4B 34 +
4C 22 +
3A 16+
3B 10 +
3C 7+

N Below 7
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